2N MERED
Ha: ATENY S4(2SHLVT/HS)
oel: MeAnx 84 (B9 @
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
AmE AT 17,795,702 17,702,287 93,415
2 2,340,000
J| 565,791
= 197,269
Al 14,692,642
ABENY BS(SHLBH/HS) 17,701,057 17,607,992 93,065
o 2,340,000
| 565,791
= 197,269
Al 14,597,997
HeATX 84 3,444, 120 1,186,658 2,257,462
DL 68,318 45,958 22,360
201 Qw2 4,988 5,498 A510
01 AtR2lY| 3,740 3,740 0
= 0l 4t 3,740 3,740 0
OXMSXNE ALEF S04
8,0002 +6% *541 x 122 2,880
ORIRPY (LSS BEHE
1,000 *86004 *1Z * 13l 860
02 ISl 1,248 1,758 A510
= 0l 4t 1,248 1,758 A510
OXSALEY SHHSITE U HAAD o
e 25
(5712, 1302 *2507H 2 £ +28] ) +( 2 Br3308 » 1,248
2
77 A 28] )
202 OfHl 7,980 8,460 A480
01 2oyl 7,980 8,460 A 480
= 0l 4t 7,980 8,460 A480
OFYAA L MLZOHAME 2HT 52
s 60,0002 *3 +32! 540
OFYME Hap g, 2
60,0002 * 102 x4 *13] 2,400
OFYZOQUME BHLLE o, Ay
60,0002 x202 %22 *13] 2,400
OFILEME & H4 o5, H
60,0002 %42 *42 #1351 160, 0002 *3% #1121 «1 1,140
3]
OFIAE EHM4H o, HY
60,0002 *52 +32 *13] 900
OMS 2HX 5o L HOILE &4 o1t
60,0002 *22 +12 x53] 600
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EAM: HEdEL
Hu: ARXMY SH(SHLBB/MS)
el MEATX R4 (69l @
x s . 0 & o & & 0 A o -
SA - B (SH) - HRAY - BAES =z T HRE2
203 SR FAH| 2,000 2,000 0
03 AMHMFXHRFXH] 2,000 2,000 0
= Off & 2,000 2,000 0
O=dMsdES ?& NS gdRFH
2,000,000 » 14! 2,000
307  glztol A 30,000 30,000 0
02 SIUBAAMIEX 30,000 30,000 0
= Off & 30,000 30,000 0
OXNgAEZ=2Y 29 30,000,000& » 14! 30,000
405  RHAHE SHI 23,350 0 23,350
01 A& YESSFHSHI 23,350 0 23,350
= Off & 23,350 0 23,350
O=&dAMME=2 224 HI 2 23,350
—dx=ZHO0lE 2L 265,000& =440 11,660
— 24l 2 250, 0003 * 124 250
—&OolA X 2 130, 0002 »88H 11,440
=dANNE WX 605,800 605,800 0
307  glztol A 605,800 605,800 0
02 SIZBAAMIEX 417,400 417,400 0
= Off & 417,400 417,400 0
020198 == E&H X
70,000,000& =12l 70,000
OHNb58al detdEx=sta &d
220,000,000 x13] 220,000
OHN48al M=2AdNsHa & d= X
& 12,000, 000& *13| 12,000
OHM 1008 MIM=UE &=2d 8= X
22,000,000& x13] 22,000
0201948 Metg=2gue g4 e
S (8d) 4,000,000& =13 4,000
OM33 ML OIMENSUHEHE(E
&) 500,000& 14l 500
OFYMENSNEN MSUH(EA)
1,000, 000& *13| 1,000
ON233 Hergzolol & 2 [31g &et
He MEXs WEH(ZD,000,0002 13 70,000
OM133 Metde HEAMMENSUHE (S
&) 17,900, 000& 13| 17,900
03 QIAHMBEER2IHIES 108,400 108,400 0
= 0fl &F 108,400 108,400 0
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SN HSHED
HE: ARIMNY S4(2HUBY/HS)
Selr MEALE R4 CERE
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
O=HAMSE 298 N
108,400, 0008 *14] 108,400
04 DIZFBAALEBE 80,000 80,000 0
=004 80,000 80,000 0
02019 =HAIMSOIO & 8 A
20,000,000 *13] 20,000
ORX158 @A MEHS HEH A
60,000,000 *13] 60,000
EHANZNLHSS WHI 68,500 133,900 34,600
307 QI2H0IH 68,500 133,900 34,600
02 SIABMALRE 83,500 67,500 21,000
=04 83,500 67,500 21,000
02019 ZOHol HS R+d+E2AH N
10,000,0002! * 13l 10,000
OR278l ML EHMAMSUE SH
77,000,000 *13] 77,000
OM39s| H2IHHAMSHE & L4 X
& 1,500,000 *13] 1,500
03 SIASUBZ2HHBE 80,000 66,400 13,600
=0 & 80,000 66,400 3,600
020199 =HAIZMHOIXSE 298 N
80,000, 000! *14! 80,000
£ % 2 80HS X 231,000 231,000 0
308 XHXIEHH SOl 231,000 231,000 0
08 DEIBUUERE 231,000 231,000 0
=04 231,000 231,000 0
0D 2s% =@y N
H% 5512%175,0002+XI & Xt 498 +500,00 121,000
0
475,002
OF= ¢ =9 (f3 2450 Y
1,000, 000! 2074 2 20,000
OBUR S5 222 98 21 HS Y
£S5 N 20,000, 0002 *2JH 40,000
OB %,5,0SstD 57204 DX A
bl Xl 25,000,000 274 2 50,000
NESSHIY S4 2,370,502 0 2,370,502
01 Ypreaz 2,366,202 0 2,366,202
10 HzH . 2SPS2A3 2,366,202 0 2,366,202
=0 2,366,202 0 2,366,202
ozIL 2l 943,856
—Jlz2-s2W 153,360
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M=HED
AZXAMNY SH(2ILAZ/HSF)
d2Amz 54 el a e
SNBSS (BH) - MEAY - B2 (ggz::) @(E'ME@O*L%% =2
sE25 4.613,600& x1H x12& 55,364
== 4,578,400 x1H x12& 54,941
X 3,587,900& x 15 x12& 43,055
—Jl2=2-d2Hx 373,000
& 3,166,660x 1 128 38,000
B 3,333,330& x1H x12& 40,000
& 3,750,000 x3H x12& 135,000
o 4,166,660 *3H x12& 150,000
A S JpAHH 208,330& x4H x12& 10,000
—as-d32Y 25,560
sE2= 4,613,600 18 x2& 9,228
25 4,578,400 »1H «2& 9,157
- AKX 3,587,500 x1H 2 & 7,175
~imsg
(HH S XH 40,0002 »3H 122 )+ (DI EFIIE 20 1,680
OOO%H%HZ%;
HI2LEIHa23 110,000& x2H x12& 2,640
AgE Xl 7,860
s24= 250,000& x1H x12& 3,000
2= 250,000& x1H x12& 3,000
X 155,000 »1H x12& 1,860
sd+g 200,000 x11H «12& 26,400
Mt | 200,000 »3H x12& 7,200
do|gaa e 300,000& *3¥ x12& 10,800
NEX=< 12,000
2= 500,000& x1H x12& 6,000
2= 300,000& x1H x12& 3,600
2 200,000& x1H x12& 2,400
2IHESY 300,000& x1H x12& 3,600
Hes< 100,000& x10Y¥ x12& 12,000
H &SIty 15,336
g5 4,613,600& *60%* 1 »2& 5,537
= 4,578,400& »60%* 1Y 28 5,495
X 3,586,600& *60%* 1 22 4,304
=203 ZA= 1,000,000& 11 43| 44,000
=M Za23 10,000,000 *x3H 13| 30,000
oA 2 10,000& *400& 4,000
HEEAS 20,000,000 *1H 20,000




SN HSHED
Ha: ATENY S4(2SHLVT/HS)
oel: MeAnx 84 ol & 2
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (913 o1) =
I TEETE 6,000,000 83l 48,000
—SHOU-2HMMHE  18,000,0008! *13] 18,000
—SFOY-HAEY L YBEY
6,000,000 33| 18,000
— A= 2 A
8,00021 +2A! #1125 +452 7,920
— T =l 37,500,000 *14] 37,500
—HII8E 2yl 65,000, 000 *14! 65,000
Og2E 2| 502,981
—Jlzz-52W 117,663
2= 4,450,800% * 1% 122 53,410
LS 2,926,500%! 1%+ 128 35,118
LS 2,427 90021 + 1% * 128 29,135
—Jlga-ogm 114,000
LR 3,333,330 « 1%+ 128 40,000
LR 5,833,330 1% 128 70,000
o1 = O} A o 333,3302 * 1«12 4,000
—402-324Y 19,611
2= 4,450,800%! * 1% 2% 8,902
LS 2,926,500 * 1% 2% 5,853
LS 2,427,900 1% 2% 4,856
=g
(BH Xt 40,0009 «2% 128 )+(JIEFIF S 20 1,440
000% *2% * 128 )
- F249H43 2,640
2= 10,0002 %124 « 122 1,320
M4 60,0008 *1% 128 720
LR 50,0002 1% * 128 600
- EEEYY 6,360
2= 250,000% * 1% 122 3,000
M 140,000% %22 * 122 3,360
—2Eay 200,000% *5% * 122 12,000
L EEEL 200,000% %32 * 122 7,200
=P EE T 300,009 3% * 122 10,800
~XNEREY LS 300,000 1128 3,600
—2jUESY 300,000 2% * 122 7,200
—ngsg 200,000 4% * 122 9,600
— B EIHY| 11,767
2= 4,450 8002 *60%+ 12 %22 5,341
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2N MERED
HE: ARIMNY S4(2HUBY/HS)
Selr MEALE R4 chelE
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (913 o1) =
IES 2,926,500 *60%+ 12 x22 3,512
LR 2,427,002 *60%+ 1 x22 2,914
—M2HE EAS 1,000,000 x5 43 20,000
—2HUE EAS 10,000,000 «3% *13] 30,000
—oemy3 10,0008l *250% 2,500
—H2ER3 20,000,000 * 124 20,000
—EHOY-H20H3 3,000, 0008 +73] 21,000
—EHOH-2HMMHE  15,000,0008 *13] 15,000
—EFOY-HNEY L SEY
3,000,000 33| 9,000
—2zHE 2 24
8, 0002 #2152 #452 3,600
— 1=yl 26,000,000%! *14] 26,000
—~ZJI83 Yyl 32,000,000% *14] 32,000
OREe 29| 499,573
—Jz2-52H
2AS 4,450,802 x 12+ 128 53,410
—Jz2-ezH 191,000
Mz 5,000,000 *2% 128 120,000
M4 5,416,660 * 12 x 128 65,000
o1 2 O} ok ot 500,000 *12 » 122 6,000
—y03-324Y
2S 4,450,8002 1% +22 8,902
—Jtmay
(BH X 40,0009+ 1%«128 )+(JIEFIH S 20 1,200
0002 *3% * 128 )
~MZBEH LS 250,000 1128 3,000
—2Eay 200,0002! 4% * 122 9,600
o EEECE 200,000%! * 1% * 122 2,400
- PIEL- N 300,008+ 1« 122 3,600
~XNER4EY LS 300,000 1122 3,600
— = ELY 300,0009! 3% * 122 10,800
—Hgsy 350,0002 x22 * 122 8,400
— Y EEIHY|
25 4,450,8002 *60%+ 12 x2 2 5,341
—~®IE TAS3  1,000,0008 6 +63] 36,000
— RS TAS3  10,000,0008 *4Z +13] 40,000
L 10,000 *300% 3,000
—EFOU-MRME 3,000,000 %103 30,000
— E£FOU-2MME 15,000,000 *23] 30,000
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EM: MEIED
Y AXXAMY SH(S2LAZ/AK)
&©e: M2AXLX 4 (cte ®
% = T Ol Ao & E 0] A —
EH-Z3H .42 (3H) - HEMNY - BES (FE o) (1= o) Hnsz
—EX0U-dX=2H L Ag=A
5,000,000& *33] 15,000
— 2=z 2 A
8,000& x2Al x6H x45! 4,320
— O =l 20,000, 000& =14 20,000
—&dJ83 #dbl 20,000,000& *14] 20,000
OXFRSSTIR =54 22 £ 223
= 500,000 *3s*12& 18,000
OXFXRSHIIE &3l 8,000
—-3837 2,000,000& x13] 2,000
- %= 3,000,000& x13] 3,000
= 3,000,000& x13] 3,000
OXNFSSTIE A o2
50,000,000& 54 250,000
Osiesd e ozl
S5 1,317 %3602 & «5& 2,371
OXNF2SHIIR 4018 22 113,821
—=0dH3 1,121,354 ,840& %4 .5% 50,461
—HZEH 1,121,354,840& *3.12% 34,987
- 182 1,121,354,840& *1.5% 16,821
— A AEE 34,972,000& %7 .38% 2,581
—MTHEE 1,121,354,840& *0.008 8,971
OAESSHIE X LXd-3CH
2,300,000& x12& 27,600
405  XHaHF S| 4,300 0 4,300
01 TMUYSEHSH 4,300 0 4,300
= 0ff &F 4,300 0 4,300
OXNERsHEIER 29 22 ¢ 4,300
— A S I8 MS 3,500,000& * 14 3,500
— 0l =Dl 800,000& * 14 800
AZX[OIAE 64,835 2,237,046 N2,172,211
AT X0 E 28,835 180,659 A 151,824
201 et 4g9Y| 3,595 155,059 A 151,464
01 Al 22l 2,740 154,360 A 151,620
= 0 & 2,740 154,360 A 151,620
OAZ=[0IAE FR2FE S20MAH
8,000& x4 H 54! x 128 1,920
OMSE#HA R 23 =IOF AIEEY X
g 8 820,000& 13| 820
02 =294l 855 699 156
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SN HSHED
Ha: ATENY S4(2SLVT/HS)
ohel: AREOIAHEY CERE
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
=0l 855 699 156
OXNEY S SLUL L&(H2 22
T, HSHHM, dHE 2a)
SI1 2,1302 %4010 A * 18] 855
202 OfHl 3,240 3,600 360
01 2ol 3,240 3,600 360
=04 3,240 3,600 360
OAZZ0IEY LB SlOA&A & &
D W02 S 60,0008 *22 «32 53] 1,800
OFNEY HEX MO
60,0002 *32 *22! x43] 1,440
203 YREY 2,000 2,000 0
03 ANHZZHLFZY] 2,000 2,000 0
=0 2,000 2,000 0
OAZZDY EHHE 28 25T
2,000,000%! * 12! 2,000
401 ANEHLLHY 20,000 20,000 0
01 A&l 20,000 20,000 0
=0 20,000 20,000 0
OMSHA 28 AL &% 2 27
20,000,000% *14] 20,000
dNsee 9 2 N 36,000 54,100 A18,100
201 st 3,000 2,200 800
01 AtR2teltl 3,000 2,200 800
=0 3,000 2,200 800
OFNEEY 21 AU K
3,0002! *1,0005+13] 3,000
307 eI2to0lH 28,000 46,900 A 18,900
02 PATMMLBE 8,000 26,900 18,900
=0 8,000 26,900 A 18,900
OFNEY R N 8,000,0002 * 13l 8,000
04 DIZBAAIRBE 20,000 20,000 0
=0 20,000 20,000 0
OsHerex 1uE7 A2 ]
20,000,000% *13] 20,000
402 UAXEROIH 5,000 5,000 0
01 QIAXZALRE(RAE) 5,000 5,000 0
=204 5,000 5,000 0
OFNEY 2SF 4  5,000,0008! 1A 5,000
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2N MERED
HE: ADZNY S4(RSFUDB/IS)
el M2l ASHA (B9 @
x s . Of &t o8 & & 0 A o -
H .o (3H) - HEMY - BHES (ZE o) (I o) Bnsz
2e9 WS A 1,159,845 1,025,750 134,005
= 120,000
Al 1,039,845
M2ct9l MSBA X2 735,845 745,750 £9,905
= 90,000
Al 645,845
o1 2t0| 735,845 745,750 ~9,905
= 90,000
Al 645,845
TETEPONETEE S 36, 145 60,750 24,605
=0 &t 36,145 60,750 24,605
OX158 SHHSAZLZAI| =2 7
3l (53) 1,000,000 *13} 1,000
OR178 HEZI H= NOESHS(EH
) 1,000,000 *13} 1,000
ORXI208 2LE2Ith = HOIESWUS (&
) 1,000,0002 *13] 1,000
ORX9sl HEYI H2 SR0IL (5
) 1,000,000 *13} 1,000
OR108l 3-15 22718 &= o2l M
Mg 2708 (2H) 500,000 * 13| 500
OX178 SHHSAZLZAI| B2 B
SETEED 750,000 * 13l 750
OX128 2LE20)| VLIS 82 6
AT (BE) 1,000,000 *13} 1,000
ORX118 ZYAFH =2 Jt2cBE0
d(5H) 1,000,000 *13} 1,000
Oslaz4bl @2 Ngec2Lys| (28
1,000,000 *13} 1,000
Odsiz+t = J2ec2IHs
1,000,008 *13] 1,000
020198 &= SH O ELIAHS (&)
1,500,000 *13} 1,500
020198 &= AIZFOHOl SIS (&I})
2,000,0002 *13] 2,000
02019 AITHH = AIZZOHO 22043
(2d) 3,000,000 *13] 3,000
OR278l HS=HEXOl Ot2HE T8l (&)
2,500,000 *13] 2,500
ORM128l MFC XA &= Fohol+20
d(sH) 4,000,000 *13] 4,000
020198 &= XXLLHM XSS
3,000,000 *13] 3,000
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SN HSNSD
FH: AHXINY SH(BL2F/AR)
Eel: =W . F2E MSHA (e &
- _ . sron 419  0f &t .
Kems.a9(3) ASAY - Bas o o SR & HDE2
=ETY SELS
OX= HOH MBS HHEQUEH (&
&) 2,000,000& *12] 2,000
02019d 2 AlE &= ZHoiel &3 Ual(&
™) 2,000,000& 13| 2,000
020198 LFaH DS M2 04O LIS Of
=] 1,000, 000& *13| 1,000
020198 ol MIZO0HQ HHSU S
1,000,000 *13| 1,000
020198 ZH O e = EXI0tH 3
1,000, 000& *13| 1,000
Q20198 M2 F0el HOIEZS HEE U2l
3,895,000 13| 3,895
04 QIZtHALAIHE =X 699,700 685,000 14,700
= 90,000
Al 609,700
= 0l & 699,700 685,000 14,700
& 90,000
Al 609, 700
OM153 =&AEI R42E kU
10,000, 000& *13| 10,000
020198 =& AEI| AEBEC ] S72U3E
20,000, 000& 13| 20,000
OM173l =& AIZH ZsE 2E U3
10,000, 000& * 12| 10,000
020198 =& UIFIZE 8= A2 20|
tH3l 7,000,000& 13| 7,000
02019 =2 ZOHS HSE HLAMS
3,000,000& *13| 3,000
02019 24 HEPHUN L SHIAHHP
A0S 50,000, 000& *13| 50,000
= 5,000
Al 45,000
02019 =& INEJAW 8= S0k
= 22,500,000& 13| 22,500
= 2,000
Al 20,500
02019 KUSF CH&fOF+ U-clt &l
11,200, 000& % 13| 11,200
= 2,000
Al 9,200
OM1sl =d2J1E 3 H=HHECIE
3 40,000,000 =13l 40,000
= 5,000

- 304 -




FA HEAEL
H: AZIMY SH(BSL2Z/HK)
Sl =M. RS MSBA (B9 @2
x 5 . 0l &k 2 ol Ao ~
SA B S (SH) - MEMY - BES =z T HRE 2
Al 35,000
OHM6s =d=JIZ3 28220 3
CH =l 18,000, 000& 12| 18,000
= 5,000
Al 13,000
ON14e == 3 S MEANALAZE
= 59,000,000& *13l 59,000
= 4,000
Al 55,000
OM198 =dA=I1H2H d=2dUd3 U
k=l 40,000,000& =13 40,000
= 5,000
Al 35,000
OHM293| =dU=JIZ 2 d=UAUE
53,000,000& =12l 53,000
= 3,000
Al 50,000
OXNb5el =&=JIEJH d=stdH=
3l 35,000,000& x13] 35,000
= 5,000
Al 30,000
OM 108 =&t HHY M= UHI U3l
60,000,000& =13l 60,000
= 5,000
Al 55,000
ON63l =& I AeTHA I (MTB)CH S
60,000,000& =13l 60,000
= 30,000
Al 30,000
OHM9s &=&et ECO 2 MZIIH3
35,000,000& *13l 35,000
& 5,000
Al 30,000
ORM13sl =&8 =Ect Otct=Ual
15,000, 000& 13| 15,000
& 3,000
Al 12,000
OHM33 =1t =dEHLIAUS
88,000,000& =12l 88,000
= 3,000
Al 85,000
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SN MSASD
HH: ATXNY SH(SHUDB/AS)
Sl 2N, A2 MSHA (2o @
< - = Ofl &K & 0 A =
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
02019 =&BI = H A MBHAAZX
203 L IMEHSHAATE X
p] 28,000
Ch &l 28,000,000% *13|
< 3,000
Al 25,000
02019 88 R FAUHEY =8 =X
DEME ¥ AE=2/0 35,000,000 13 35,000
< 5,000
Al 30,000
HSE Of2tE sl N& 130,000 130,000 0
= 5,000
Al 125,000
307 ©I2+0IH 130,000 130,000 0
3 5,000
Al 125,000
04 QIABAASRE 130,000 130,000 0
= 5,000
Al 125,000
204 130,000 130,000 0
3 5,000
Al 125,000
ON193 =& LS =0tetEN
130,000,0009 *13| 130,000
= 5,000
Al 125,000
ZHOZIHAN 2 R0 3 180,000 150,000 30,000
< 20,000
Al 160,000
307 ©I2+0H 180,000 150,000 30,000
< 20,000
Al 160,000
04 QIABAASRE 180,000 150,000 30,000
= 20,000
Al 160,000
=0l & 180,000 150,000 30,000
= 20,000
Al 160,000
ON43 £HVIINHAH B2 R=0H3
180,000, 000%! *13] 180,000
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FA HEAEL
H: AZIMY SH(BSL2Z/HK)
Sl =M. RS MSBA (B9 @2
x 5 . 0l &k 2 ol Ao ~
SA B S (SH) - MEMY - BES =z T HRE 2
= 20,000
Al 160, 000
M74s] Hstors d=2 U2 114,000 0 114,000
= 5,000
Al 109,000
307 giztold 114,000 0 114,000
= 5,000
Al 109, 000
04 QIZHHALAIS E X 114,000 0 114,000
< 5,000
Al 109, 000
= 0l & 114,000 0 114,000
= 5,000
Al 109,000
OHM742 H=Us0r2d =2
114,000,000& =13l 114,000
& 5,000
Al 109, 000
ANESS M A 386,980 334,480 52,500
AN HSSEA XA 386,980 334,480 52,500
307 gIztold 386,980 334,480 52,500
02 SIUBAAMIEX 49,550 44,550 5,000
= 0fl & 49,550 44,550 5,000
OHM233 MetdS XAl Al2tiE =2
s(&H) 1,000, 000& * 12| 1,000
02019¢ otLt28 WAHE Htseld(&d)
10,000,000& =13l 10,000
ORN283 MY XIADl MES HOIEZ2
Hal(sd) 2,000,000& x13] 2,000
OM143 ML XA 58 sdUs (S
) 500,000& =13l 500
OHM4sl detgs s8I &I 28|
EH) 550,000& *13] 550
OHM28s HMetdHEga &l deHs =
203 &A) 1,000, 000& 12| 1,000
O2019 =& &= NEZ Hetgr o
LU (EH) 2,500,000& x13] 2,500
OM 153 et T XA MEMs 4 =
2Us(EH) 1,500, 000& * 12| 1,500
OHM 145 HMetd S XIAEE MERMEUs L
M43 st WRH(EH) 2,000,000 *13 2,000
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2MH: MKNED
HI: ALIMY SH(2YL2Z/ANS)
G AIES? M A (cte ®
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES 2 mon) (I o) Hns2
ORM143 Metd T XAl S50 BHRsl(
=3d) 500,000 *13] 500
ORI73 ML ToAZRI| =22UF(EH
) 1,000,000 x 14! 1,000
OHM143l Mt XA MEds H20U
A(EA) 1,000,0002 *13] 1,000
OHM143 HMetgY = XA MEH S HLA
el (&™) 1,000,000 x 13| 1,000
OHM19s &< =0t MU (EX)
4,000,000 13 4,000
OHM1143 dMetgdx AMZEMAMESUSE (B
) 3,000,0002 *13] 3,000
OM172l =& AI=Q3 &I HOESWSI(
£H) 4,000,000 * 14! 4,000
OM213 MEHEF &I SeHOESUHS
(8d) 600,000 * 14! 600
OHI233] Xelad 954 Ny &d Lol
HOEESWHE(EH) 600,000 * 14! 600
OHM143l Mt XAl Lo HOIE=2M
A(EA) 800,000 * 14! 800
OHN33 NS HMWIMENMEUHE &
12,000, 0002 14l 12,000
04 QIZHBHALAIIE X 337,430 289,930 47,500
= 0fl At 337,430 289,930 47,500
OHM243 =&AEEIAXI ZI=2U3
3,000,000€ *13] 3,000
OHM243 =& AEI 2 E=2US
6,000,0002 x13] 6,000
ORI1358] =&ot 2ZH =703
4,000,0002! 13 4,000
OHMZ223 =FHAIED Z2EUHE 28U
4,000,000 13 4,000
OHM23z =&AE3EI Sy =82 H
3 2,000,000 x13] 2,000
OHM113 =&0HH} et ZgUsg =2
o 3l 5,000,0002 *13] 5,000
ORI2258| =&AIEDI| HZ U3
5,000,000€ *13] 5,000
OHM13s =&ANEIEI 2EUI
3,000,0002 *13] 3,000
ORM183 =& AIZH s 2013
5,000,0002 *13] 5,000
ORN2438 =& A3 522 &37U3
3,500,000 x 13| 3,500
OHM293 =&AIEIHI SEUE HUA
o 3l 4,000,000 13 4,000
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FA HEAEL
M ARXMY SH(SHLBB/MS)
Ehel: AIEEHS MsSEA chelE A
x - . 0 & o & & 0 A o -
SA - B (SH) - HRAY - BAES =z ek =2
ORM153l =& AT & - &= HLUA
3 5,000,000& *12] 5,000
OXN28zal XM AHEZAl S2& HIULANE
2,000,000& x13] 2,000
OHM2z2sl =& AIEI 2 EHd 2 U3
3,000,000& =13l 3,000
ORMB8sl =& ANAUZEH S22
3,000,000& x13] 3,000
ON73 =& ANEI E2U3
3,500,000& =13l 3,500
0201949 MY =2 7 Al AOIE=ZU3
4,000,000& *13] 4,000
OM 153 =&HAIESI A HOIEZEUS
2,700,000& »13] 2,700
OHM16sl =& AIEI HOIEE =52 U3
4,500,000& %13 4,500

OHMl24z] =& AMEI| BHE2EUH 2
4,000,000& =13l 4,000

OM1a =AU Sztet Ec2U 3

2,700,000 12 2,700
OM17a =& AHELE stots U3l
2,700,000 12/ 2,700
OHM 168 =& A ZHH i CHSE
5,000,000& =13 5,000
OHM232 =dAMgald ¥ M6 ZE=II
B 2 CH & 3,000,000& 12 3,000
020198 =& Al - ZE Al BI2E3 KHIHE
A Hi O3 3,000,000& 12/ 3,000
OHMB8sl =&AIEH sz
4,000,000 12 4,000
OHM3% =&ASE2E s
2,500,000 12/ 2,500
OM202 =& AI&EI ¥ M283 =&HAE2
I HEEHHAE S 9,000,000& 12| 9,000
OM 158 &=&HAEI ERUSE
4,000,000& 12 4,000
OM132 =dAIEaH Z2U3
3,000,000& 12/ 3,000
020198 =AU HAAT =X T
ord o=l 3,000,000 12 3,000
020198 =& AIZH Al2HIS UEA
8,000,000 12/ 8,000
OHM 108 =& AIZEI| Atglel oFUal
3,000,000& =12 3,000
OHM93 =&HAIH US| ZH SHHAY
3 2,700,000 12/ 2,700
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FA HEAEL
FM: AXXMY SH (2L 2E/AS)
SR ASE MM (=&
x s . 0l &k 2 H = ol ~
SH - BA(BH) - NRAY - BES e i BlRE2
OXN8al =& AZHH QUISHHANS
2,700,000& x 13l 2,700
OHMb5al =& A& Z2Hel MEUS
2,000,000& x13] 2,000
020198 =& A2 22 =Lt M
dA0E 10,000, 000& 12| 10,000
OX 132 =& AEI| =sIIsHza
2,700,000& x13] 2,700
OHM143 =& AMEH It AANOIEHE
3,600,000& =13l 3,600
OMME =&HA & =H U3
4,000,000& *13] 4,000
OHMB8sl =&AIFEI a3
3,150,000& »13] 3,150
OHM4z =& ANZHH 0= A TELIA THE
4,000,000& %13 4,000
OXNi8al =& AEI| R+LEIBIIAH EFOIS
| 3,000,000& x13] 3,000
OHNM23 &=&ANEI SEAEIIUHE
3,000,000& =13l 3,000
OHMosl =& AIEI HAUS
2,000,000& x13] 2,000
OHM3s =&AIFEI HMEUSI
3,500,000& x13] 3,500
OM7a =& ANEH &I
4,000,000& %13 4,000
OM73l =& AIZHH det2& ==ZUs
4,000,000& *13] 4,000
OHMB8al =&AAI OFAILE 27tT 3
3,000,000& =13l 3,000
ORM4sl =dAZH == 3
5,000,000& x13] 5,000
OHM3s =&AIEI NEH SOtSHa
3,500,000& x13] 3,500
Ogoioted=a 9 A dEXNE WIU
3 10,000, 000& 12/ 10,000
O=Z0ts &g 23 4,000,000& %13 4,000
ORM1sl =& AIZHH ZI1U 3
5,000,000& x13] 5,000
020194 =& Al 22MSUZ
3,000,000& =13l 3,000
OXx6zl dgs2d ZHe E=2UHa
3,500,000& x13] 3,500
OHMosl H2AZFoHu M Sl Z&4U
k=l 2,500,000& x13] 2,500
OM7a dgs2d ZoHe =AU
3,000,000& =13l 3,000
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2MH: MKNED
HI: ALIMY SH(2YL2Z/ANS)
el AT S M A S
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES (ZE o) (I o) Hns2
02019 MY ZoHel SR2Yy HEA
4,000,000& 13 4,000
OM63l =& AIZI| ZHOHO HLIAWS
3,000,0002 x 13| 3,000
ORI53 =&Al ZOHQ HHEQIE o220
3 2,500,000€ *13] 2,500
02019 X Ae el JE M3
3,000,0002! x 13| 3,000
OHM13 = AIEI| ZOHC! HOIESUS
3,500,000€ *13] 3,500
OM13 =HON2AY 022 2X 03
2,000,0002! x13] 2,000
ORM3s HIZOPQHAAT XY L M2
T2-0lOtE AU 3 15,000, 000 *13] 15,000
O8¢5 HIHA XL
500,000 %80 S = 4,000
OJIEFH S AR & (3870 & A})
74,480,000 * 14l 74,480
2~NHSIEI2 BEEAY 1,000,677 917,287 83,390
pj 565,791
[ 17,269
Al 417,617
ATE2L 0l2AH X 191,886 177,671 14,215
pj 134,321
[~ 17,269
Al 40,296
301 LertEA3 191,886 177,671 14,215
pj 134,321
< 17,269
Al 40,296
01 ASEEELF2 191,886 177,671 14,215
J| 134,321
[= 17,269
Al 40,296
= 0f| At 191,886 177,671 14,215
pj 134,321
[ 17,269
Al 40,296
OAZZUXO0IEAAMY 191,886,000 » 14l 191,886
pj 134,321
[= 17,269
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EAM: HEdEL
Bu: ATXMNO SH(SHADB/US)
el [ UMFAEIIS EXAZ (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
| Al 40,296
A Bt = X & At B XI 240,287 210,334 29,953
Il 107,232
Al 133,055
307 glztol A 240,287 210,334 29,953
| 107,232
Al 133,055
02 QUAHABMASEX 240,287 210,334 29,953
J| 107,232
Al 133,055
= 0ff &F 240,287 210,334 29,953
| 107,232
Al 133,055
OLutMatX X S At B XIAHY
240,287,000 =14 240,287
J| 107,232
Al 133,055
HEadadsX =X i Xl 344,066 333,182 10,884
I 147,444
Al 196,622
307  glz2tol A 344,066 333,182 10,884
Il 147,444
Al 196,622
02 QIZBAAMNIEER 344,066 333,182 10,884
J| 147,444
Al 196,622
= 0l & 344,066 333,182 10,884
ol 147,444
Al 196,622
OZ2adEY MEMSXEI XA
344,066,000 14! 344,066
J| 147,444
Al 196,622
SUME100 MEASHH 29 197,150 196, 100 1,050
J| 163, 150
Al 34,000
101 elA4| 140,080 134,710 5,370
J| 114,640
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SA: HSNED
Bu: ATXMNO SH(SHADB/US)
0o RLYKNEIIB REAY CER-E
SNBSS (BH) - MEAY - B2 ggi) @(ijf;lﬁ% HRE2
101 jelals] Al 25,440
04 JIZHZ2ZNSE S 140,080 134,710 5,370
J| 114,640
Al 25,440
= 0l & 140,080 134,710 5,370
Dl 114,640
Al 25,440
OAHL2S 22l A 2124H|
110,000 20 x2H x 12& 52,800
Dl 44,000
Al 8,800
ONE=HAF 22|
70,000& x20 x2H x 122 33,600
J| 28,000
Al 5,600
OME=sdE s&83 oAyl
60,000& 1«50 3,000
OHLUSS2HLIA FTEFE
110,000& 4L »2H x12& 10,560
Dl 8,800
Al 1,760
ONE=EHAN FT54E
70,000 x4 x2H x12& 6,720
J| 5,600
Al 1,120
ONMBUSHE =a 4HTes =
450,000& x4H x12& 21,600
Dl 21,240
Al 360
OO0t E8MHIA (bl
20,000& x4H x53| x12& 4,800
OMZOZME N2DE ¥ 9As 24
150, 000& *4H x53] 3,000
J| 3,000
OMZOIZHE N 292 20
250,000& x4 Y x4 3| 4,000
Dl 4,000
201 282 AH| 57,070 58,390 A 1,320
J| 48,510
Al 8,560
01 Ar®2te2lbl 55,570 54,050 1,520
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SA: HSNED
Bu: ATXMNO SH(SHADB/US)
0o RLYKNEIIB REAY CER-E
SN HE B (BA) - MEAY - BHAS (ggj) @(ijf;ﬁ% HRE2
01 At 2t2ldl J| 47,290
Al 8,280
= 0ff &F 55,570 54,050 1,520
Dl 47,290
Al 8,280
OJls2Aness 7Y 5,000
—JI2 MRS 500,000& x10& 5,000
Dl 5,000
O=0H&E10 EE ¢tUHE HE S 2,500
—ZAH Y BEEY 2,500,000& * 14! 2,500
Dl 2,500
OM=EosM Y AEH HE
6,750,000 x 14! 6,750
Dl 6,750
O=0H&E100 =2 JIE83 H&
17,490,000& » 1A 17,490
Dl 17,490
OMdgols 538 LS & 23t ¢
3,000,000& * 14! 3,000
OME=X &Y 22 X4 900,000 =14 900
Dl 900
ONMgoSHE 43 32 200,000&*103] 2,000
Dl 2,000
OLE=, 3AEH Uz 472,000 x 14 472
OEAI YUHE(EH, EY 2Z1LE)
400,000 x12& 4,800
OO0t EHMEIA XS X =
1,300, 000& * 1Al 1,300
Dl 1,300
OJIEF & AF =l HI 1,000,000& * 14 1,000
J| 1,000
OMgEsxnNs 282 2¢
4,000,000& *14] 4,000
Dl 4,000
Ogeldl & teEM I == 1,688
— 22| 0] 61,000& *83] 4388
Dl 480
Al 8
— CHSHA D XFE 200,000 *3& x2H 1,200
Dl 1,200
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2N MERED
HE: ATENY S4(2ALBH/HSK)
Sl ROUMSHEINZ BEAMY (2@
x s . Of &t o8 & & 0 A o -
SA - B (SH) - HRAY - BAES =z T HRE2
S EEEREEEEESETCEE
, 2o =2 8) 1,500,000& * 14! 1,500
Il 1,500
OL& =3 & AMEES 1,690,000 14 1,690
Il 1,690
OJ17 AUS(HBHAHSI Z8)
100,000 «10& 1,000
J| 1,000
Oy A= 40,000 =123 480
J| 480
02 22292l 1,500 4,340 A 2,840
J| 1,220
Al 280
= 0fl & 1,500 4,340 A 2,840
Il 1,220
Al 280
ozzel 1,500
—RER=
2 DR H330J *869M+S I R E 2, 130& x100 500
o
Il 220
Al 280
— e HYEE= 1,000,000& =14l 1,000
Il 1,000
O MEMFX X B X 27,288 0 27,288
Il 13,644
Al 13,644
307  22tol™ 27,288 0 27,288
Il 13,644
Al 13,644
02 SIUBAAMIEX 27,288 0 27,288
Jl 13,644
Al 13,644
= 0l & 27,288 0 27,288
Il 13,644
Al 13,644
OZ NI MEHS KSR X At eS
27,288,000 * 14! 27,288
Il 13,644
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2A: MSHED
N AZIMNY SH(2FIUBZ/IS)
oo ROFSIEIZ BZAY (9 A2
x 5 . Ofl & 04 A 0l & o -
SN H . GA(3H) - BN - BES (24 Zn) EEET HiRE2
| | | Al 13,644
MBI AL &= 11,644,600 11,906,771 A 262,171
= 2,340,000
[ 60,000
Al 9,244,600
HSAL 8% L 2= 894,600 1,624,840 A730,240
201 LEr2 9y 1,440 1,440 0
01 AFR22ltl 1,440 1,440 0
=0l AF 1,440 1,440 0
ONSAESEY 42 =X =2 0AH|
8,0002 *3% 54 x 122 1,440
202 OdHI 2,160 2,400 A 240
01 =LH0iHl 2,160 2,400 A 240
=0f A 2,160 2,400 A 240
OZHIX A 8% & (A2 F
60,0008 x2 % x22 %53 1,200
OZZHS AL SX2 EIAZ #X 02
60,000 x2 X x2 2 %43 960
203 YAL=XY] 1,000 1,000 0
03 AlMZZXSREZ Y 1,000 1,000 0
=0) A 1,000 1,000 0
OZZHSAE HIMNY A2 =Z
1,000,000 * 14! 1,000
401 AEHIZL=EHY 890,000 1,620,000 A730,000
01 A&t 890,000 1,603,000 A713,000
=0f A 890,000 1,603,000 A713,000
OSHMSAE 8% ¢ 24
690,000, 0002 *14] 690,000
OZOIOIRE 22 ZA 100,000
-2y 1,260,0002 %502 2+ 63,000
— e 37,000,000 * 14! 37,000
OZNSEE 2247 L =YX X4
50,000,000 * 14! 50,000
OLHAHMIY J2CZOX o5
30,000,000 * 14! 30,000
OZZHSAE LXEISH ZA 2
20,000,000 * 14! 20,000
SAE = MEIAZ AY 520,000 0 520,000
401 AlEHIL=E0H 520,000 0 520,000
01 A&l 520,000 0 520,000
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SN MSAED
M ARXMY SH(SHLBB/MS)
SOl RIS AL 2B (St &8
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES HE o) (713 o) Hns2
= 0f & 520,000 0 520,000
ORAUET M87F A
520,000, 0002 144 520,000
REAE USHLYT A 3,500,000 8,000,000 4,500,000
401 AlZHIL2 0 3,500,000 8,000,000 4,500,000
01 Al 3,500,000 7,872,000 ~4,372,000
= 0fl & 3,500,000 7,872,000 4,372,000
ORFAY USH2YE AY
3,500,000, 00021 14! 3,500,000
S H MHATXSSHE A 3,370,000 0 3,370,000
= 1,000,000
Al 2,370,000
401 AlEHIL2 0 3,370,000 0 3,370,000
= 1,000,000
Al 2,370,000
01 Alag] 3,280,000 0 3,280,000
= 1,000,000
Al 2,280,000
= 0j & 3,280,000 0 3,280,000
= 1,000,000
Al 2,280,000
OM AZX23HE A
3,280,000, 00021 14! 3,280,000
= 1,000,000
Al 2,280,000
02 el 80,000 0 80,000
=0 & 80,000 0 80,000
QM AZX23HE A
80,000,000 * 14} 80,000
03 Al&S Ol 10,000 0 10,000
= 0f & 10,000 0 10,000
OM AZX25HE A
10,000, 00081 * 14} 10,000
SET MENSAE N 700,000 0 700,000
308 XHXIEHHSOIH 700,000 0 700,000
08 RSIIDUHERE 700,000 0 700,000
=0 & 700,000 0 700,000
O2Sx USHHUSH(ZEHRUEHMEH)
e 700,000, 00021 141 700,000
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SN MSASD
M ARXMY SH(SHLBB/MS)
CHel RMIRIIE AL BB (St &8
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
ZOOFRE AISE A 1,000,000 0 1,000,000
=) 300,000
Al 700, 000
401 AEHILEHY 1,000,000 0 1,000,000
= 300, 000
Al 700,000
01 Al 985,000 0 985, 000
=) 300,000
Al 685,000
=0 & 985, 000 0 985,000
2 300, 000
Al 685,000
OZOIOIRE AUHHSE A
985,000,0002 141 985, 000
= 300, 000
Al 685, 000
02 22yl 12,000 0 12,000
=0 4 12,000 0 12,000
OZDIOIRY ASSE A
12,000,000 * 14} 12,000
03 Al&=OHl 3,000 0 3,000
=0 & 3,000 0 3,000
OZOIOIRY AHSE AY
3,000, 0002 14! 3,000
HESNSALXS (SSHEYSBHSAL) 800, 000 0 800,000
=i 800, 000
308 XX EHSOIA 800, 000 0 800,000
= 800, 000
08 DSIIBUHERE 800,000 0 800, 000
=) 800,000
=0 & 800,000 0 800,000
=) 800, 000
ONESstn SSF MENSAE x4
400,000, 0002 141 400,000
= 400,000
OZY2SsD SS& HEANSAE X4
400,000,00021 14! 400,000
=) 400,000
MSUSALNE (MENSBAEY) 800, 000 0 800,000
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SN HSHUED
HE: ARXNY S4(2HUBY/HS)
B9l HMSIIE AL S5 (B9 @2
x s . Of &t o8 & & 0 A o -
SA - B (SH) - HRAY - BAES = T HRE2
2 240,000
Al 560,000
401 ANEHL20Y 800,000 0 800,000
2 240,000
Al 560,000
01 Al&H] 800,000 0 800,000
2 240,000
Al 560,000
=0 & 800,000 0 800,000
2 240,000
Al 560,000
ONBIZH4BZH MBUSAL X4
500,000, 00021 * 14! 500,000
2 150,000
Al 350,000
O2YTY MEBHSAL =4
300,000, 0002 * 14! 300,000
2 90,000
Al 210,000
A7S NAHLAL (HSAL) 60,000 0 60,000
= 60,000
401 ANEHL20Y 60,000 0 60,000
= 60,000
01 Al&H] 60,000 0 60,000
= 60,000
=0 4t 60,000 0 60,000
= 60,000
OHEBY YT =¥ ASAL & (2
£J17) 4,000,000 *5H 2 20,000
= 20,000
OMED 2X2 HOESE ALE 24
20,000,000 *14! 20,000
= 20,000
ONS 202 HMSAL 2 SFHA(2
£J17) 1000, 0002 %57 £ 20,000
= 20,000
HSAAY (AL XA (IIEHIIE) 94,645 94,295 350
oz 2yl 44,492 43,213 1,279
oz 2yl 44,492 43,213 1,279
|
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2MH: MKNED
M HESHYAH (AZXAAD)(IIEHDIIE
CHel: ol 2] S
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES (ZE o) (I o) Hns2
101 Q1 2H] 44,492 43,213 1,279
01 B2 44,492 43,213 1,279
=0l At 44,492 43,213 1,279
OAZte 2824
10,2992 * 12 «30 Al 2t + 122 44,492
| =23 50,153 51,082 A 929
Jl2&H| 50,153 51,082 A929
201 o9y 15,953 16,882 A929
01 AP Z2lH| 15,953 16,726 AT73
=0l A 15,953 16,726 ATT3
OJl2 M2EEH 30,0002 x13H » 122 4,680
O=2AD ¢xt2 350,000 * 122 4,200
OIZgEHI dxtz 165,000 » 122 1,980
OYUPEX 2A2X 2
22,0008 x62F A x 122 1,584
OF2I| Ux2 42,4002 *128 509
ORN2E =28 29| 250,000 122 3,000
202 O 31,200 31,200 0
01 20l 31,200 31,200 0
= 0fl At 31,200 31,200 0
OJl=gess ZUHEH 0|
20,000 *13H « 10 « 122 31,200
203 YR Z=ZAH| 3,000 3,000 0
04 BAN2IARFZIH| 3,000 3,000 0
20| A 3,000 3,000 0
ORN2Y 22FH 250,000 * 122 3,000
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